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Hb: 13, FBS: 103, TSH: 0.01, T4: 16, T3: 380 , K: 4| 4

Hb: 13, FBS: 250, TSH: 0.1, T4: 12, T3: 87, K: 3.2 Yo

Hb: 9, FBS: 110, TSH: 6, T4: 10, T3: 120, K: 3.8 1

Hb: 14, FBS: 65, TSH: 0.2, T4: 11, T3: 87, K: 4.5 | yv
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U/A: protein:2+, RBC:0-1, WBC: 2-3 Ca: 12, Albumin: 4, BUN:35,Cr: 2.1 | 19

U/A: protein:2+ ,RBC:28-30, WBC: 3-4, RBC cast + Ca: 10, Albumin: 4, BUN: 60, Cr:3.2 | 1.

U/A: protein:1+, RBC:10-20 , WBC: 0-1 Ca: 9, Albumin: 4.5, BUN:12,Cr: 0.5 | 1y

U/A: protein:4+, RBC:0-2, WBC: 2-3 Ca: 8, Albumin: 2, BUN:15,Cr: 0.7 | yy
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